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“This Booklet contains in all 100 objective type questions with
multiple choice answerson General Knowledge.

. All questions are compulsory and carry one mark each.

. Before answering any question, checkup this Booklet and ensure
that it contains 23 pages and no page is missing, mutilated or
repeated. In case of any defect replace it immediately:

The Invigilator shall supply you the bank OMR Answer Sheet
separately. Enter your Roll Number, Question Booklet Serial
Number and ‘ Question Booklet Series Code and darken the
corresponding circle/oval provided on left side of the Answer
Sheet carefully by black/blue ball point penonly. You must write
the name, date and center of examination and put your full

_signaturé in the appropriate spaces provided therein before

answering any question.

. A machine will read the coded information furnished by you in
the OMR Answer Sheet. If the information so furnished by you
arc incomplete or different from what have been given in the
application form, you will be awarded Zero mark.

_ These instructions must be complied with fully failing which your
Answer Sheet will not be evaluated and Zero mark will be
awarded. :

_ Answer must be given by completely blackening one of the four
circles/ovals representing the correct answer given on right side of
the Answer Sheet corresponding to the relevant question number
by using Black/Blue ball point pcn only. Answers not shown by
black/blue ball point pen shall not be awarded any mark.

_ Failure to hand over the Answer Sheet to the Invigilator before
leaving the examination hall/room will make you liable to penal
action.

. Read carefully the instructions of answering each question before
answering it.

. Answer the questions as quickly and carefully as you'can. Some

questions may be casy and others difficult. Don’t spend too much
time on any question.

. No Rough work has to be done on the OMR Answer Sheet. Space

for rough work has been provided below the questions wherever
needed.

. You must not carry into the examination hall/ room any book,

mobile phones or electronic devices printed/handwritten papers
except the Admission Letter.

Failure to comply with any of the above instructions will
be considered as using unfair means and action as deemed proper
will be taken against the violators.
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~General Knowledge , JC-GK-2015
The ‘Ebola’ virus is named after the River Ebola which is located in- .
A) Federal Republic of Nigeria C) Republic of Senegal
B) Democratic Republic of Congo D) Commonwealth of Virginia, US

‘QEQIAI FG1 WA QI AFACQ QAN LA AITIXAS QQIAINSE, 912 68
60669 2dQ ?

A) QIRESIRRI 6TFERAURN QUGR C) 696Q9R AUGR

B) Q66T 606FI6RTR QUQR D) QOEGY RAREER, AR

“The right to vote is a sacred right and ah onerous responsibility that you owe to the
motherland”- was said by-

A) T.N.Shesan ; C) C.Rajgopalachari

B) R.K.Dwivedi D) A.PJ Abdul_Kalam

CRIS 6991 69IEN ORG ZRIAIA IS FARA AIAIQ QIFP AIGRE JdIQ AR FRRIG 9671
QM - 1 QR ERWURD @I ? ‘

A) TR 6991 : C) 4. ARCHARIN
B) 2IQ.6R. G6Qa1 D) 1.4.69. AQGM QNI

Pick out the incorrect pair of the important year and the event that occurred in it from the
following-

15 1815 Birth of Indian National Congress

b 1962 3 General Election ‘

3 1965 Indo Pak War in Ran of Kutch and Ceasefire in June

4. 1971 Indo-Pak War. Bangladesh got Independencé

A) SlNo. 1 B) SlNo.2 C) SlNo.3 D) SINo.4

Ge6a GeIRIRgel geagd 9d e 62a eda 2°A00 ACEINRIA 6ABAIRE AR 6260
AM 0AF AQ |

gfe Qg Qg QAR

1 1815  QIAGIA HIG1G REFIAQ FQ

2 1862  QOI% ARIQS BGIOR

3 1965 @@ QIf 068 ARG 6 AFIIE T Ie° §a6a 8 900
4 1971  QIQQ G ARIIS Y& B QIFTRIERTQ YRAQE!

A) SlNo. 1 B) SLNo.2 C) SlNo.3 D) SlNo.4
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4. Which of the following countries are respectively the largest producers of Rice, Rubber and.

Steel?

A) China, Thailand & China C)" Russia, Thailand & Russia

B) India, Bangladesh & India D) Bangladesh Malaysia & Mexico

&l 9%1@ 69 6G4 Q2UPEL QIAR, QAR IG° RQIEQ A QELE RYIPRI?

A) Q19 diaMIE IQ° Q1Q C) @‘&EII, M 9Q° @‘&8"

B) @IQQ, QIRIEQE 9Q° QU D) QIRIEQ4E, FlleR, 9Q° 65156R
5. Find out which of the following statements of Invention/Discovery, Scientist & Year is

incorrect? ;

SI. No. Invention/Discovery Scientist Year

1 Island of Tasmania and Newzeeland Tasman (Dutch) : 1642

oy Cape of Good Hope Vasco da Gama, Portuguese 1498

3 South Pole (Explored) Amundsen (Norway) 1911

4 Suez Canal Ferdinand de Lesseps 1869

5. Solar System Galileo, Italy 1540

A) SlLNo.2 : B) SI.No.3 C) SlNo.4 D) SIL.No.5

QVISR, 21I7FIQ, %1512 63R5R Ye° od A1 Qﬂ@%i@ 69Q QIRYT om QUL —

Q0P G AVLR/ASFIQ AR 63T Q‘Sl

1. QIAAUF2 IY° RGNS F1d FIAAR (@) 1642

2 6@d AT g« 6214 QUEAILIBIE 1498

X QR4 601 26N (RA6E) 1911

4. NG 60 Im ETERNG & 6meEa 1869

5. 6dla qae FINMG, QSR 1540

A) SINo.2 B) SlNo.3 C) SlNo4 D) SLNo.5

6. Find out the incorrect one out of the following pairs of sportsperson and the sports he/she is
associated with.

A) Anuradha Biswal-Atletics C) Valena Valentina-Chess
B) Jyoti Sunita Kullu- Hockey D) Sradhanjali Samantaray- Football
Q4 MO 6VIRIR NG° 6Q AER Y 6HRR 6UIB FIRE FUQ CAAT QR 86 QA |
A) AL TR — 625G C) VERR WERITRI — 60
B) 6946 4Gl @ — 2@ D) JRIGe AIFIUL - Joam
7. Which of the following pairs of Trophy and Sports it is associated with is incorrect?
A) Ranga swami Cup - Hockey
B) Champions Trophy - Cricket
C) Durand Cup - Table Tennis
D) Wimbledon Trophy - Lawn Tennis
- G96Q 9La 9 9e° QIgl QQ@ QA9 69RQ Q¢ 6QIE QIS 1UQ 6206 Ym QAR @ ?
A) QergIeN @4 - @
B) ofalQ o - Q6Re
C) gQiaed - 6Ogm69RQ
D) Q@8gae o - Q96989
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10.

11.

12.

13.

14.

A
The British forces defeated Nawab Siraj-ud-daulah and put the traitor Mir Zafer on the throne
of Bengal in the battle of- '
A) Battle of Panipat B) Battle of Plassey C) Battle of Buxar D) Battle of Terrain

6Ra JR6a §5¢ 63RQIZR! AQIe G0lI9-09-90Mlg QI8 GARER e SYAVGR
faRIrag a1 3°IARER AR Yem | ‘

A) QFQa 9« B) IRl ge C) QYR D) GARe 98
Voting age of the Indian citizen was reduced from 21 to 18 by- ‘

A) 53" amendment, 1986 C) 55" amendment, 1986

B) 61% amendment, 1989 : D) 62" amendment, 1989

QAU FIPARF 69IC QIR 9 600 Qfiaie Q6aING gial 21 Q 18 @ B @AM ?
A) 53" amendment, 1986 (@) 55™ amendment, 1986

B) 61°* amendment, 1989 D) 62" amendment, 1989

What quantity of blood is there in a normal human body? :

A) 10 litres or 10% of body weight C) 17 litres or 7% of body weight

B) 8 litres or 8% of body weight D) None of these is correct

Q66 ARG 18 HAASA 6R66 ARSI OB 2T ?

A) 919 BeRQ 10% @I 10 @A C) 9 BIAQ 7% @7 (Al

B) <910 6899 8% QI 8 ACA D) 6638 O g6¢

Which of the following statements is not true of liver?

A) It is black in colour. C) It is the largest gland in the body.

B) It weighs about 40 to 60 ounces. D) It helps in digesting food.

G649 600 QIRYE AGE TR AGH 68 ? S

A) ‘N2IQ AT R C) N2 I1aa A2 §26 97

B) N2IQ 6aq 40- 6029 D) GlQY 9ul JFAUQ AILIY FER
Veer Surendra Sai was kept in which jail till the end of his life on 28.02.1884?

A) Nagpur B) Hazaribagh C) Asirgarh D) Fort William
Q1R Z6AGAN GIF K1GRQ 669 &7 28.02.1884 QNS 60 6IR 6Q 26 ?

A) Q1999 B) 2610QIa 0) adde D) 6TIC GRAN
Which of the following rivers in Odisha is east flowing- :

A) Bhaskel B) Nagabali C) Poteru D) Sileru
65918 HORYe 60 991 99g JQITe 629287

A) QAN B) QIGleM C) 6dI6eQ D) J6RQ
“Elisa” test is associated with —

A) Bird flu B) Encephalitis C) AIDS D) None of these
«gGar 9P |IL ARG §86?

A) QEq B) YReQTIRIRE] C©) 9§ D) 6@63G g6e -

JC-GK-2015 : 5 ) ¢t P.T.O.



15.

16.

17.

18.

19.

The Latitude of the Tropic of Cancer is-

A) 21.5degree north B) 22.5 degree north C) 23.5 degree north D) None of these
alale) QITQ 2AAI°S 6Q6Q ?

A) 21.5degree north B) 22.5 degree north C) 23.5degreenorth D) 6@1€6QG QG‘@J

Who wrote, “Every man is a moon, and has a dark side which he never shows to anybody”?
A) Gopinath Mohanty B) Arundhati Ray C) William Shakespeare D) Mark Twain

QGQ%“ ‘?Iél‘& 66N 9 9° QIR 6QlITN 2SI Qg a8 QAL 64 6RlET Al g@ﬂ@
@P6Q FIE- T QBT §9 emaiejem ?

A) 6QIANRQIA ARIT B) AQRGT QI C) GRAUA6Q7T9Q D) IS gNg
Which of the following is not a classical dance form of India?

A) Kathak B) Manipuri C) Odissi D) Dandia
Gl RGO 6Q00 QSR IR SIYIA 9OI6ERT G6F?
A) @@ B) @é&iga - C) 6 D) Qigell
Match the following péirs of Odia book and its author in right order?

1. Sarala Das i)  Bhagabat
2. Jagannath Das ii) Mahabharat

3. Kanhu Charan Mahanty iii) Labhhama
4.  Fakir Mohan Senapati ' 1iv) Ha Anna

5. Gopinath Mohanty v) Amrutara Santana
A) 1-i; 2-ii; 3-v; 4-iii & 5-iv C) 1-ii; 2-i; 3-iv; 4-iii & 5-v

B) 1-iv; 2-iii; 3-i; 4-ii & 5-v : D) I-iv; 2-iii; 3-i; 4-v & 5-ii
FeqIe el L@ 9Q° YLIQ QU Gﬂl@Gi oR QEQ 6CIR@R |

1. ARl QK _ ) @IQQ@

2. @98 QY i) ¢2AVUA

3. Qg 0Qd AaIZ : i) @A

4. IRQEAILR 6ARIAD iv) @ ag

5. 6QlRIel Q@ v) 2P a8ie
A)  1-i; 2-ii; 3-v; 4-iii & 5-iv C) 1-ii; 2-i; 3-iv; 4-iii & 5-v
B) 1-iv; 2-iii; 3-i; 4-1i & 5-v D) 1-iv; 2-iii; 3-1; 4-v & 5-ii

“Richter Scale” used for measuring intensity of earthquake was developed by Charles F.
Richter in-

A) 1935 B) 1938 C) 1942 D) 1945
RAIQ 1961 AT AR LS FR 6IM FIF IT AoA 6768 TREE FALEA 2
A) 1935 B) 1938 C) 1942 D) 1945

JC-GK-2015 (6)



~ 20. Which of the following is not a benefit of Latitude and Longitude?

v A) We can identify the location and local time of a place accurately.
B) We can predict rain.

| C) We can have some idea of hotness or coldness of a place.
D) We can know the distance in kilometre of a place from Equator.
B¢ AYE 6996 2TIE Ne° QIAFIA IQ ABACAITE! §6% ?
A) 6a16d 2I9Q 2986 e° QIR1A AFE A0 W6 G @aaIRal
B) gl i@ 4ol 6QRAIGA
C) 69163 FIRQ S1ERS! @)l AFSIR @8 QG VAU
D) @99 6Q9I0IR 6c163 AR §AGI FEMITCR LURAAEA gleacal

21. Which of the following events did not occur in the Indian history in 19307
A) 12" March -Dandi March
B) 6™ April -Civil Disobedient Movement
C) 1% Round Table Conference in London without Congress member
D) None of these
1930 IdQI6Q F6¢)I9 69Q AG1S Fo2de ASE AT @ aml ?
A) €IS 12 GIaga QI8 QIS
B) 26gM 6 SIS QR AAURY 26K
C) NEREA @°6gQ A6QQis QTG gl 63lIR 65aR 650
D) 6AI9dE gew

22.  Dr. APJ Abdul Kalam, who was the Principal Scientific Advisor to Gol, was awarded Bharat
Ratna in-
A) 1985 B) 1987 C) 1989 D) 1991

QAUAG LA ¢St 6oRIGe AAUASAG! Qo . d.64. 81@@@ Ql@lﬂﬁi E@EQ WAL QG
JeIe @l dixeml ?

A) 1985 B) 1987 ‘ C) 1989 D) 1991
23.  Which of the following countries is not a permanent member of the UN Security Council?
A) China B) German C) France D) Russia
FARGE 6QQ 694 fae FIEA°d YRl AGVQ QI AQAY 8_6@ ?
A) Qla B) oYofley _ G el D) @@8“
94. What is the share of Odisha in exploration of Bauxite in the country?
- A) 20% B) 30% C) 40% D) 50%
2IIC1 6REER AR AN QACAIRAER BRI VUG 6RES ? ’ :
A) 20% B) 30% C) 40% D) 50%
JC-GK-2015 , (7) ' P.T.O.



25. Which of the following districts in Odisha tops in production of ginger and turmeric- .
A) Ganjam B) Kalahandi C) Kandhamal D) Mayurbhanj
261 99° 29¢1 QUITRER BEI6R 699 BRI A8 ARER 25 2
A) QIIe B) QRI918 C) @9AIe D) A9eaS:

26. Which of the following is not a measure of prevention of Tuberculosis?
A) Patient should not cough here and there.
B) Patient should avoid hard work, smoking, drinking and worrying.
C) Patient’s room should be properly closed.
D) Good and vitaminous food be given to patient.
Q¢ RS 600G A gTeaIIa QUeaI Q6L ?
A) 6QIQ1 966 6564 RITRU QTR |
B) 6QIgl @09 AQgel, AQIa ¥e° AIde 80l AGicId @Al GaRIR |
C) 6QGIR @Y OR AUER QR 6221 YA
D) Q@9 GCIFe 98 M IRl QeI

27. The rivers Narmada and Tapti flow into the-

A) Bay of Bengal B) Arabian Sea C) Seaof Andaman D) None of these
QFIQ 9Q° 01T 991 69Q 0169 Fidga ?
A) 6QI6ENA AR B) Qe AIGR C) LR TS AqQ D) 6aTT gL

28. The first Indian satellite Aryabhata was launched into space on-
A) April 19, 1975 B) April 17, 1976 C) April 15,1977 D) None of these
LIACQ el QAL ARG (;’I@IG?I@@L 6@EQ 696 @QULIRSYMI?
A) April 19,1975 B) April17,1976  C) April15,1977 D) 6@636 g6

29. Which is the currency of Philippines?

(A) Peso (B) Ngultrum (C) Rufiyaa (D) Franc

TRAALR GORS QIR QUFI REI?

A) 6464l B) 6aqme Ci Qﬁ’ﬂl D) di&
30. Pradhan Mantri Jan Dhan Yojana has been launched in the year-

A) 2012 B) 2013 C) 2014 .D) 2015

QRIS (91 'FR AR CUIRAN 60Q 9T JRIAA FAUAIRSE ?

A) 2012 B) 2013 . C) 2014 < D) oS
31. The River Tel drains into the river Mahanadi at-

A) Manamunda B) Boudh C) Bandhmunda D) Bihka

699 AFEA 6OR K91 AT Ol6Q 7 215 ?

A) aeqel B) 6Ql8 C) <998l D) Qaal

JC-GK-2015 (8)




~ 32.

33.

34.

35.

36.

37.

“Greenland”, the largest Island in the world, is located in-

A) Arctic Ocean C) Pacific ocean

B) Mediterranean Sea D) North Atlantic Ocean

QYR QLG @19,“gIama”, 68Q0I6Q ULFG?

A) 2a0R A2 C) geie AT

B) Q€1 AR D) R4 2TNER ALAAAR

The year 1962 is not associated with which of the following Indian historical events?

A) Dr. S. Radhakrishnan elected President : C) China invades India
B) State of Nagaland created D) None of these
1962 (Gl G6qlIe 604 Ia01a 1e2de QedIaR 426 AYB §6 ?
A) @.4. Qlulq%m, QIS FAIGe C) 910Q VUG UFAE
B) QIGING QIGY 0K D) 6«1€6d6 Q68

Kalidas, better known as the Indian Shakespeare, for his Meghadut, Kumarsambhab,
Raghuvansha and Abhigyan Shakuntalam lived in?

A) 2" Century AD  B) 3" Century AD C) 4" Century AD D) None of these

8% 950 671990, GAIA AR, AGI"E Na° AARIA IIE IR AUAGIA 6AFIAQ Q6
WIB 2SR FRYQ FIFAIQ 60Q FFINER FAUY AQIYEM? :

A) §o18 99191 B) {019 §GI1 C) 9gdEeIa1 D) 6R63G gee
Which of the following fundamental rights ¢ﬁsures abolition of untouchability?

A) Rightto equality C) Right against exploitation

B) Right to particular freedom D) Right to acquire to property
GoRYe 696 61AR 2RI AFMG! Q6RL IREE Q6a ?

A) QARG AYXNQ i 65198 FeQU1 2RI

B) Q8| QRIS 2RI D) dHR AGS AR

The river Mahanadi originates from the mountain-

A). Vindhya B) Malkau O) Satapura D) Mahadev
609 990 FIRIQ FIAM QYR CRIRRAR ?

A) Ga B) CIRSIR o) aegel D) F2I69Q
“Altimeter” is used in theaircraft for measuring?

A) Speed of aircraft  B) visibility C) speed of air D) altitude

QOIRIFINEa @4 FITQ! JIR ‘ARNTAR QIQLIQ KU ?
A) QQIRYFQGE B) QENAIRO C) U99Q 696! D) Q@el

JC-GK-2015 (9) P.T.O.



39.

40.

41.

42,

Which of the following countries are respectively the largest producers of Gold, Silver and ®
Manganese?

A) Australia, China & Brazil C) USA, Chile, Mexico

B) South Africa, Mexico & China ‘ D) China, Peru & South Africa

el RS 64 6048 gE@ QIFER gQ, QA NQ° AINFRR ATRID QYIS 2ASE?
A) AR, 919 IS° QIFR C) AR, R, 9Q° 601564l

B) QR4 2T, 6015691 9Q° 91 D) QIR 69Q 9Q° @& 2IFel

The War of American Independence was initiated against the colonial rule of British
government in 13 British colonies in North America on 4™ July, 1776 and concluded with the
Treaty of Versailles in-

A) 1783 B) 1785 C) 1788 D) 1792

909 AaRIeE AaR1cada <R Q@@GQ QR4 2ICARRIQ 13§ 359 RERANER 1776 AT
ﬁiﬁl@ 4 QIR TQ 2IEAARIA YRNFS! A°Qie] QA 6LIRYRN | FIR QACANY g@%‘lﬂl qI9Q
QTG 6Q6Q 688 6LINml ?

A) 1783 B): 985 C) 1788 Dy 792

The Simla Agreement between the Prime Ministers of India and Pakistan was signed on-

A) 2" July, 1972 C) 6" May, 1976
B) 4™ June, 1974 D) None of these
QA IL° AIXLFQ YRR FlIEQ TR QTR 6262 FIVAS 621RMI ?
A) 2" July, 1972 C) 6" May, 1976
B) 4" June, 1974 D) 6@l6ds g6

Tipu Sultan, the ruler of Mysore, drew the idea of nationalism when he was a member ofthe?
A) Congress Party C) Home Rule League
B) Jacobein Club in France D) None of these

6QQ 8@‘%1%‘@ 4y gl 696w ﬂ@‘él@@ dlld@ G‘q dneIq RC1ALIRINA SRMIQ 2UILAE]
Q@&Gﬁh’?

A) @694 QR , C) <QIx QG
B) gI2Q fI6QIS2IQ @ D) 6«163G Q6w

The first Odia writer, Dr. Gopinath Mohanty, got Gyanapith award in 1973 for his-
A) Matimatala B) Paraja C) Harijana D) Danapani

gec 6P 6aSR @. 6qIIRIE 1213 1973 ATLIER SIRA 696 aYl TS ‘RIeIO’ JosIa
QAIRYER ?

A) AITagIR B) Q@I C) 98 D) QIQITIE&

JC-GK-2015 (10)



A

~ 43. Find out which of the followingh statements of Invention/Discovery, Scientist & Year is

incorrect?
SI. No. Invention/Discovery ' Scientist g Year
1 Aeroplane Wilber & Orville Wright, USA 1903
2 Automobile Carl Benz, Germany | 1888
3. Diesel Engine ; Rudolf Diesel, Germany 1897
4 Dynamite Henry Dunant, Sweden 1862
55 Railway Engine Stephenson 1814
A) Sl.No.l B) Sl.No.2 C) SlNo.4 D) None of these
e galeq, 2ITAIQ, A 6ABIA® e Q8 AGVIR FIRYO 699 MG QR IS —
T glie aedl  Q@I9R/2AIRIR Qe 651G od
1 (LB NN QRRAR IS° ZAGR ARG, 2R 1903
2 6916Q A& QIR 6981, SAIS1 1888
o Gean 289 QeR.G6aR, A1 1897
4 aeliallaly 626091 @914, Y1609 - 1862
% caR Q89 - §eaeaq 1814
A) SlNo.l B) SILNo.2 C) SlNo.4 D) 6aETE Q62
44. The gland in the eyes which secretes tears is called —
A) Lachryma B) Lymph C) Ophthalmic D) Thyroid
2Ig6a 92 98 S9aSI 9RA AIA @61 ? ’
A) 6Rgell B) ¢ C) Yglnde D) aIRQQ

45. Jaduguda in Jharkhand is known for-
A) Bauxite mines B) Dolomite mines C) Uranium mines D) Mica
QIPUE AUFIER ASTG A9Ye @6 AR gde ?
A) QARG WS B) 6RIEAIAIRS &8 C) Q@AFYAdd D) Ao &

46. The words “Satyameva Jayate” inscribed below the abacus of the national emblem in
Devanagari script was borrowed from-

A) Kathopanishad : C) RigVeda
B) Mundaka Upanishad D) Bhagbat Gita
QIe1a go1aa 7IQI0d 96R 6QERI0R QLAINIER RYS “ARYEAL AT 6RR0IQ A9
6LlRg ?
A) R60I1959Q : C) QAN6RQ
B) €@ QdaaQ ; D) W9QC Qlle!
47. “Suva” is the capital of which of the following countries?
A) South Africa B) Fiji Cj Canada D) West Indics
ARG 6QR 6299 AFUAFQ FIET F@U?
A) QA& AT B) Ta1 C) QARC! D) 644 QY
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49.

50.

51.

52.

Where was the Paik Rebellion started in 18579 . @
A) Banpur B) Kujanga C) Ranapur D) Khordha
1857 C19Q16Q QNG §6912 62R0I6Q A°¢100 6RIRgMI ?

A) QE9Q B) Q@ C) 24999 D) 68ls

Our hair turns grey due to reduction in the cells of hair roots a pigment called- |

A) Melanin B) Creatinine C) Serein D) None of these
E@d (@ FIPERIVER YR 699 Je691Q AQIQ 2T 694 VTN SR Qe [ 2

A) 6RIRS B) QINEQIRR C) 696099 D) 61635 6w
Which of the following pairs of disease and the affected part of human body is incorrect?
SL.LNo. Disease Part of human body

i. Jaundice a. liver

il. Meningitis  b. spinal cord and brain

iii. Ottis c. lungs

iv. Pleurisy d. ear

A) Only i is incorrect C) Only ii & iii are incorrect

B) Only ii is incorrect : D) Only iii &iv are incorrect
aq @%1@ 6QUG NQ° QI FIA UL Q1R 2k 6QNG ﬂﬂ@ 6@Q0 am?

@Q.9. SR Q11 JdRIGe IQ1QQ ek

. K49 2Q 9o :

ii. 6059 QIRTY  60QQ) B A8

iii. 659 - 9999

iv. 69RQE QAR

A) @R iR C) 6QQR ii NQ° iii @M

B) 68e% i gm . D) 6R4R iii 9&° iv @R

The earth rotates round its axis at a speed of- :

A) 26 kms/minute B) 27 kms/minute C) 28 kms/minute D) None of these
e 7 AYQ OIR U6 660 69660 YRS ? |
A) 26 kms/minute B) 27 kms/minute C) 28 kms/ mmute D) 69l63% QGQJ

Who were the f'rst Governor Generals of Independent India and Pakistan?

A) Mount Batten & Md. Alli Jinnah

B) Chakravarty Rajagopalachari & Zulfiquar Alli Bhutto

C) Jawaharlal Nehru & Khan Abdul Gaffr Khan

D) None of these

641D 6RAL6R L2AFEL AR AU B ARYIFR geIel R4 68699l 2em ?
A) IR QIETR 9Q° 120 R KA

B) @@@@1 QURCLNDINLURN NQ° %:LGRQ’@LQIQ 2R 6L

C) @QLIQ MM 6R6LQ 1Q° ¢IIR UQYYM ATQ IR

D) 6«l9ds Q6%
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33.  Who wrote, “Whatever you do will be insignificant, but it is very important that you do it”?
A) Sardar Ballavbhai Patel B) Bhagat Singh C) Mahatma Gandhi D) Indira Gandhi
Q691 KIgl @Q GILl QOIS G?@ Nk Q@ q% 65 P6¢1 GILl @ - QB 6@%15? @q?

A) dRQIQ IRA AR AETM B) WOIC dra  C) awIql QT D) QR A1
54. Which of the following is not a fundamental right according to constitution of India?
A) Right against exploitation C) Right to convert people to other religion
B) Rightto freedom of religion D) Right to constitutional remedy
QIG1E QAMIR 2GAI6Q BY] AYO 66T 601G 6¢T1AR 2YRIQ G6T 2
A) 69196l QAR 2R - C) enlaw U KAS! RPN
B) dAQ IRIGSI 2RI D) QARIGR YERIQ AN

55. Which of the following statements about Jagahnath Temple in Puri is incorrect?

A) It was built by King Prataprudradev.
B) It was built in 1115AD.
C) Its height is214.8 feet.
D) Itis also called White Pagoda.
Qe16a g9 faRIe 10a FaAca gea §Y Age 6 ARG QM ?
A) N2 QIR JOIT QF 699% HTIC 62ARYR |
B) W2l RS AD 6Q H¢ie 62ReMII

1 C) Y919 Q90! 214.8 g< 2G|
D) \2Iq 640 IS F1: 921 AN |

56. Which one of the following statements is incorrect?
A) Group ‘AB’ is called universal receiver and Group ‘O’ is a universal donor.
B) Group ‘A’ can receive only ‘A’ & ‘O’.
C) Group ‘B’ can receive only ‘B’ & ‘O’ and Group O’ can receive only ‘O’.
D) None of these d
2619 699 QBT 2R 26T 2
A) AB Q@ oJd ARFR e0l Q° 94 O RIS QIS
B) A Q@ Qd 6@Q@ A NQ° O gudl R
C) BQd e B Q° O gud QAL ¥e° O Q4 60a% O G248 RAAFR
D) 61935 ?LGQ

57. “Ozone Layer” which cuts out harmful ultraviolet rays of the Sun and benefits ammals and
plants is found at a height of- :
A) 15 to 35 kms above the surface of earth.  C) 25to 45 kms above the surface of earth.
B) 20 to 40 kms above the surface of earth. D) None of these
qg]%) QAR U, IURAEAS Qe a6y QQ@@&!@I Q° gId1 8 289 FIee AU

(36RI] IR 6R6C AFGIER 2UK?
A) Qa91geQ 15 Q 35 &1 A9sI6 C) Qo1 gIQ 25 Q 45 @il AweIsa
 B) 9291999 20 Q 40 &% @@si6a D) 6a1993G ge%
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58. Given below is a column of towns/cities and another column containing the industries they ar’
associated with. Find out the correct answer out of the four options given below showing the
correct matching between them.

SL.No. Towns/cities SLNo.  Industries

1 Visakapatnam a diesel locomotive

2 Varanasi [JS ship-building

33 Kolar c. gold field \ A

4 Sindri d. cutlery €3
Shet Aligarh & fertilizer

A) 1-a;2-b;3-c; 4-d & 5-¢ C) 1-d;2-c;3-a;4-b& 5-¢

B) 1-c;2-d; 3-b; 4-a & 5-e D) 1-b; 2-a; 3-c; 4-e & 5-d

G96Q 661G BA6E AL/ATR B ARITER 6Q0I6R 6 QDY e QIA GALIRSE |
SIo6R  QRIAIRYSI GI66IT QAR Y A0R ABAT CAF @R ATI QAL SG6R Zal Galy
goea A0 67% 219 2 |

Qi@ Q@Y  9LQ/9Q Qfe Q¢ e

) QA a. PO 6QR Q&R

2 QAT b. QP 2R

3 =lialle & gel &1

4 dg d. QR G S AQEIE
5 I8 e. A9 QIR

A) 1-a; 2-b; 3-c; 4-d & 5-¢ C) 1-d; 2-c; 3-a; 4-b & 5-e

B) l-c; 2-d; 3-b; 4-a & 5-¢ D) 1-b; 2-a; 3-c; 4-¢ & 5-d

59. Who wrote, “After climbing a great hill, one only finds that there are many more hills to
climb”?

A) Edmund Hillary B) Nelson Mandela C) Sherpa Tenzing D) Mahatma Gandhi

6915 9@ 9Qe 2CALE INIVER F66l QYR 64 2UICALE @R AR ?JI?LQ 26aR UG
QL8 - 1 QLT eSS &7

A) MR ERIQAI  B) 69RAR FIGERAI C) 6Q0QCI6OBTF D) QI QI

60. When is the International Women’s Day observed?

(A) March 8 (B) Fe.bruary 14 © May 10 s (D) October 2
6RRAR 2BFIER ATR §9Q ARG QQUTIN ?
(A) March 8 (B) February 14 (C) May 10 (D) October 2

61. When did Odisha first play Ranjee Trophy?

A) 1949 B) 1959 C) 1965 1972
B34l Y26 QEITT G 6@6S 6SFAR 2 :
A) 1949 B) 1959 CHOL 1068 ‘D) 1972

JC-GK-2015 (14)




63.

64.

65.

66.

67.

A

Kalpna Chawla, the Indian born American Astronaut and Engineer went into space in Columbia

in-
A) October, 1996 B) November 1997 C) December, 1998 D) Jahuary, 1999

QAGER F90 ARG LIRS KIQl NQ° JF1 @aal Sl QRAZI IRER 6R6Q
ALRlag AIGI ARREm? -

A) October, 1996 B) November 1997 C) December, 1998 D) January, 1999

“Neuritis” i.e., degeneration of nerves, weakness of muscles and swelling of limbs are
symptoms of -

A) Scurvy B) Rickets C) Beri- Beri D) None of these
G000d — qIg 2A89, AIFAEINIA GRS NQ° AFTgeEr gRdal - NgER 69 6UTR

fee? v
A) a8 B) @6@Y C) 6906aQ D) 6@adS geL

e RA T

“Jog Falls”, the highest Water Fall of Asia, are located in-

A) Gujarat B) Karnataka C) Afganistan D) Chi'na‘
13elIQ A6TIP 9F FUIS ‘RUTR, 699 AIFIER ATTG? :

A) Qg B) (e 4 C) ATANFYR D) Q@awl
Charak was supposed to be the royal court physician of-

A) Ashoka B) Harshavardhan  C) Chandragupta Maurya D) Kanishka
QLI AR POANER PR AREIAY 2R AQAR @AULIN?

A) aedlwx B) 2Q9Q@% C) 9499 64l D) @@4d

Who of the following is both a Kathak and Kuchipudi dancer?
A) Sambhu Maharaj C) Swapna Sundari

B) Damayanti Joshi ; D) Shanta Rai

BIRGE 69 Q1B QB0 FAR NQ° gOYPR 66 9o Sial 2198 ?

A) 99 19l C) 99l gRa

B) Q0216R14!1 D) QIgl QUL

Which of the following is not a symptom of Cholera?

A) Loose motion almost like water C) Vomiting

B) Intense thirst D) Yellowing of body and eyes
5¢] AYO 6960 20R1Q MBS F6L? ‘ ' |
A) 9I9 QIS @& Ao Il 629! C) QI3 eaal b
B) 9oR 64IS 629 D) SR G ey eRdel AFAR
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69.

Given below are names of Places in one column and the activities they are known for in thb
other. Find out the pair which does not match.

SLNo. Places Activities known for

1. Kandla Port that connects Mumbai with Karachi

2 Kapurthala Rail coach factory

3 Karwar Noted for Naval base Seabird

4, Khetri Copper mines

A) Sl.No.l B) SI.No.2 C) SlNo.3 D) None

R96Q 695N AR FIRA QIF IG° 2UGY IA6Q GIal dae aIe @02l QIdY 699 FIF

QUAIR BT | 9GUR 62AC ACAIR 627 AT 9AR AN |

K@ Qo) e ANPe RIJI6aS

1 Qlaml JaIe Q@6 QAT 6QIGIELIT QR

2 ageaial 69 @Q1 GAR RN

3 QAR 4 QI¢ 6011291 goaIR

4 691 ol ¢

A) SI.No.1 B) SINo.2 C) SLNo.J3 D) None

Find out which of the following pairs of books and authors is incorrect.

SI. No. Book Author

1. Chitrangada Rabindranath Tagore

2 Confidential Clerk T.S Eliot

3. Conquest of Self Mahatma Gandhi

4. Coolie E.Raja Rao

5% The Roman Empire Eward Gibbon

A) SLNo.5 B) SI.No.4 C) SLNo.2 D) SILNo.l
a9 Age 9@ IQ° G0 6AYIR 6KIP FRIQ 62RG HR 9UR @9 |

afe el F eGP

1 SQIErQ! QARRRIE OIgQ

2 IYL @SN §.NQ. RS

3 2lic) B0, QI SIS

4 qm QAR QUG

5 6QUA AIFIRY 4@dle Geg

A) SINo.5 B) SI.No.4 C) SLNo.2 D) SLNo.l
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~70. Who is the first woman to climb Mount Everest twice in May, 1992 and May, 1993?

A) Bachendri Pal B) Santosh Yadav  C) Junko Tabei D) Kalpana Das
651 1992 \I@° 661 1993 69 IR6AS F&F R AR ACALE RFYR! J2A ATRI G2
A) Q60Q AR B) <62V UG C) 96wl PI6QR D) @89 Q4

71. Match the following Indian Gold Medal Winners of 2014 Commonwealth Games held at
Glasgow with the sports for which the medal was awarded.

SLNo. Player SLNo. Sports
a. Joshna Chinappa 1 Weightlifting
G b Vinesh Poghat 2 Squash
¢ Vikas Gowda 3 Discuss Throw
d. Satish Sivalingam 4 Wrestling
A) a-3,b-2,c4 &d-1 C) a-2,b4,c3&d-1
B) a-2,b-3,c-1&d-4 ; D) a-4,b-2,c-1 &d-3

99]6@ dva 2014 q1del QIeY 69191 16! g@GﬂlQ@IQ QUAGIE 94 JOR F68GI YQ° 6QA6R
69Q 6917 IR 6% UGR JI9 621226, ¢'Q A0K 641R A |

Q8. 6URR .8 6SR

a. oo eQIgAGRA L. QAREAIR
b. @eQd 6aIAS 2 QR
c. IQNd 6Gle 3 @9 @6l
d. AG1E Semerel 4. 98
A) a-3,b-2,c-4 &d-1 C) a2,b4,c3&d-1
B) a2, b-3,c-1&d4 D) a-4,b-2,c-1&d-3

72. Who is presently the President of the Republic of the Union of Myanmar?

"~ A) AungSanSuKyi B) SeinLwin C) Thein Sein D) None of these

HIFIQ AQEISRA FRANR AUFAS & 2
A) AF AL YR C) 62RK 69aK
B) 640Q Q@Q D) QIR FRIQ 68T 993

73. The Deomali Hill in Koraput is also known as-
A) Dumuka - B) Dushan C) Dandikia D) Dudhari
6QIAUYSIS 6QGAIRT AR ARY QIF1 & & 2
A) gqwl B) Q49 Cc) «@da D) QU1

74. The normal range of blood pressure in human body is-
A) 90/130 B) 80/120 C) 78/110 D) None of these
A8 SQACH ARIQE QR VI EREG?
A) 90/130 B) 80/120 C) 78/110 D) 6w163G gee
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75. Pick out the correct one of the following pairs of important year and the event that occurred i‘
it-

SL.No. Year Event

1. 1857 May-10 — Sepoy Mutiny

2 1863 Indian Council Act.

o 1872 1* Census held in India

4. 1876 Brahmo Samaj founded by Swami Dayananda Saraswati

A)- SlNo. 1 B)  SLNo.2 5 ) BENG. 3 D) None of these
896a Q2I0IRgQl goa 94 @F 19° 699 Ea Q606 ASYINRIA CAIRIAE IR 6966
OR QUa @ | |

Qe oSyl e Qe8I

i 1857 661 10-90191 F6QIL

74 1863  @IQGIG USSR 2R

s, 1872 QIACR gl @RISR

4. 1876 QI QUIRL LALQRIE FIQl 968! LAIR FlIOR

A) SlNo.1 B) SINo.2 C) - SINo.3 D) None of these

76. Which of the following is the most densely populated state of India?

A) Uttar Pradesh B) West Bengal C) Kerala D) Delhi
QU FIRGL 69Q QURY dQQ PRYM 2ES?
A) RNAYEQE B) a8iqQer C) 69aR D) @R1
77.  Who of the following is the latest recipient of prestigious Dadasaheb Falke Award?
A) Shyam Benegal C) Gulzar
B) Manna Dey D) Adoor Gopalkrishnan
NS 60Q Q48 AE AAAKAR AL A6LR TINCE JASIQ IY 62IRRT ?
A) SHIFl 6969IR O gReIa :
- B) Rl eQ D) 29 6Qldingd
78. The famous Poem “ Bande Utkala J anani” was composed by-
A) Godabarish Mishra C) Laxmikanta Mohapatra
B) Godabarish Mohapatra D) Madhusudan Rao
ISR @FG! "R QYR FRRT” QA QVTA! @ ?
A) QIS Fig) ' 0) WS ALIANG
B) 691 6£1RIIG D) “IY9ee QUG
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749,

80.

Which one of the following statements is incorrect?

The chief functions of the heart is to-

i
ii.

iii.

supply pure blood to all parts of the body.
collect impure blood from organs of the body.

to supply oxygen to blood.

iv. pump impure blood into lungs for purification.

A) only i is incorrect C) only iii is incorrect

B) only ii is incorrect D) only iv is incorrect
Q6419 699 QNS QM 2T ?

9q dga qo QIdY 4o 6aml -

)
1))
iii)
v)
A)
B)

QR 1D ?JGTQ@‘{GT Q G498 09 64IFIRSI
JQ10Q FOR AIQ ‘2’1‘&@ QS A°Ge *Qa!

Q94 AGFIR 6AITIRS!

QAYAQ Fealq Qe 98c o asona!

6097 i O C) 699% i g
6Q9R i M D) 6RQ% iv e

Given below is a column of “Deserts” and another column of “Continent” in which they exist.

Find out the correct answer out of the four options given below showing the correct matching

between them.

SLNo. Deserts SLLNo.  Continents

1. Sahara a Asia

ii. Gobi b. Africa

iii. Kalahari o Australia

iv. Takla Makan d. North America

A) i-b; ii-a; iii-b &iv-a C) i-a ii-a;. iii-c & iv-d
B) i-b; ii-b; iii-d & iv-c D) i-d; ii-a; iii-c & iv-b

Gelea 6010\ GA6a Q@R NQ° ZANTER 698 AQ@T g]l ATIEQER QIF GRS |
QIeeR  QRULIRYQI FI6RIT QAR FIQ A0Q ARAT PAFXQ JFIAU QA 3A6Q Yl FA
Jeaa 40K 6aR L1 ga |

gie ey  Agedaela gfieQay  f26ed

1 ALl a. N{[etd]

2 6911 b. gl

3 QARLIRA c. 2ean

4 FQAANRAR d. QAQ 26
A) i-b; ii-a; iii-b &iv-a : C) i-a; ii-a; ili-c & iv-d
B) i-b; ii-b; iii-d & iv-c D) i-d; ii-a; iii-c & iv-b
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82.

83.

84.

85.

86.

The first Competitive Examination for ICS was held in the year-

A) - 1846 B) 1848 C) 1851 D) 1853
AAG1 OM ARVAQ AN GEEAING! JR@ ANV 699 9 6RYRI 2
A) 1846 B) 1848 C) 1851 D) 1853

Which of the following statements is not true of Bhagat Singh?
A) He was a great Indian freedom fighter.

‘B) He popularized the slogan Inquilab Zindabad.

C) He was hanged in Lahore conspiracy case on 23, March, 1931.

D) He wasa member of the Indian Muslim League.

QPG 990 A AQI6A 7671 691 ABT QA ?

A) 64 @66 F1L1e RIIFS! A°gIeN gem!

B) QR @I %?QIQIQ 699} @ 64 SR @AY |

C) 193193l Q1P 23 QIR T AILLIQ FLLR AIFNIER Ol il Q&JI&]IQ&QI {
D) 64 QeI ﬂQﬁﬂ AR F6E AQQY gem |

Nobel Prize for Peace for 2015 has been awarded to the Tunisian National Dialogue Quartet, an
association of four civil society organizations of Tunisia for its contribution to- "
A) pluralistic democracy C) 2013 Jasmine Revolution

B) children education D) peaceful coexistence with neighbdlifing countries

QuegeI QIGQIG' JdOm 6QAARTQ 9@ QL A°Ql 6RAFR SRS QIGG‘G‘@L IR 6QQ
2AQQIR AR 2015 ATLIQ SIT 6716 JeAR IR *QAUAIR2T ?

A) QQIQ-G? olfloa C) 2013Q S5Q Q6QIL |

B) &g dgl D) U6QI81 6Q9AIeE ATQ alaqez QALIQYIR

The rate of female for 1000 male in Odisha as per Census-2011 is-

A) 968 B) 978 C) 988 D) 998

2011 @AC€QI 2A9AI6Q BEEI6Q & 10009Q€6Q F1ERIF 2R 6R6E 2

A) 968 B) 978 C) 988 D) 998

The average salinity of the ocean water is- :

A) 1.5% B) 2.5% C) 3.5% D) 4.0%

AL SR AALRA QGG 6960 ?

A) 1.5% i B) 2.5% C)..3:5% .- D) 4.0%

On which of fhe following dates is the night at Arctic Circle of 24 hours duration?

A) December,22 .- B) November, 22 C) October, 23 D) September, 22
Q6LIB 62Q CINHER Y6FIR YRR 9 ¥ AL MRUIAA QI 62IR2IT?

A) £96Q9Q 99 B) @699 = C) USYIQ 9N D) 696y 99
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87. The Right to property was abolished as fundamental but made a legal right by-

A) 26" amendment of 1971 ‘ C) 31 amendment of 1973

B) 36" amendment of 1975 D) ‘ 44" amendment of 1978

QIOGER 698 QAMIR AEARIA TR AR ZRIAIQ Q6T NS° I BIRATIS AR
@AW ?

A) 26" amendment of 1971 C) 31 amendment of 1973

B) 36" amendment of 1975 D) 44™ amendment of 1978

88. The first session of Odisha Assembly after Independence was held in-

A) Barabati Fort, Cuttack C) Ravenshaw Conference Hall, Cuttack
B) Swaraj Ashram, Cuttack : D) Sérdar Patel Hall, Bhubaneswar
QRIS A6R BRI TUIR ARIQ FaIF 2RIEIIR 6RR0IER SYMI?

A) QleQIM ijd. @o@ C) 6aeuql AR @Q, *CR

B) 9% 2igel, @o'@ : D) dQIQ J6Cm @R, QeI

89. Which of the following statements about Rabindranath Tagore is false?
A) He was the first Indian to get Nobel Prize for Literature in 1913.
B) He was the founder of Shantiniketan.
C) He authored Gitanjali, Gora and Post Office.
D) None of these
QISR OIgaE GIAEA 77160 JaR 699 IBAYT Qm?
A) 1913 QIR AFRYEQ 6RI6AM JAIQ AR 64 62288 2T AUA1A |
B) 64 $IER6a0aq dGqIall
C) QNOIGR!, 6IRI NQ° 6QIF AT 64 AR *QYER!
D) 6«Ia3G gew

90. Sarala Das, the great Odia poet, flourished in the court of-
A) Prataprudra Dev C) Purusottam Dev
B) Kapilendra Dev : D) Narasimha Dev-I
ALIR 652 @@ AR I R AR FARIAEA FIT AFE FRYEM ?
A) doIdQQ 69@Q@  B) @J6Rg 6QQ C) 4Q63Ias 6@@ D) FAT°Q 6QQ-1

91. The River Sileru in its upper reaches is called-

A) Saberi B) Machhkund C) Mathili D) Potteru
J6RQ AR QUQ 4G € QRIAIN ?
A) Q61 B) AIgqd C) IR D) 69I166Q
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92. Which of the following series of countries in the world has been arranged in sequenceg
smaller to bigger in terms of geographical area?

A) India, Australia & United States C) United States, China & India

B) Brazil, Australia & Argentina D) Canada, China & India

UM F6C)1D 6QQ 699 qeje ERIEAIRR 6AQTR AQUER APQ Q@%@ QCIEQ A 621G ?
A) UL, ACAN2, 9° AR C) 260, 1R, IQ° QUG :
B) QIGM, 26ER2 IG° 2R D) QIRIL 1R IG° KIS

93. Which of the follbwing is not an Indian river?

A) Sabarmati - B) Periyar C) Hugli D) Ravi

Q9 RYS 6996 VAG1A FQ1 6L 2

A) ARG B) 69299 C) 9@ D) Q@
94. ' ‘Find out which of the following pairs of year and event is incorrect?

SLNo. Year Event

1 599 BC Birth of Mahavir at Kundagram, Vaishali

20 569 BC Mabhavir attains enlightenment at Rajgriha

81 563 BC Birth of Goutam Buddha at Lumbini, Nepal

4 528 BC Siddhartha attains Nirvan at Bodh'Gaya

§ 265 BC Kalinga war and Ashok’s conversion to pacifism

A) SINo.l B) SINo.3 C) SILNo4 D) SINo.5

qq6Q GRS 91 g9 ad 1e° 69@ AR A°6I00 AFEIARIA 691 ARG FRIQ 629G

am QUe ¥ | : g,

gieqey  9d  QCQIRR!

1 ! 599BC  6@4IRIQ Q< giel OI6Q CILINA @

2 569BC  QIeQ2 0I6Q FRI91ae RIRIeme JId

9 563BC  6RUIRQ QARIOKA 661G QA Q-

"4 528BC  6QI89Rl06a dRitle A18 9IF

- 265BC  26dIa%w @Re g8 9Q° AI8910q 499

A) SLNo.l B) SIl.No.3 C) SLNo.4 D) Sl.No.5
95.  Which of the following pairs of terms and sports it is associated with is incorrect?

A) Stalemate - Chess;

B) Scoop - Hockey/Football

C) Upper cut - Weightlifting

D) Chinaman - Cricket; ,

Q769 9@ 99 M&° Q121 LG AR 6HRQ FIF1 6QIR AR FRIQ 62RG AR CAR FQ ?

A) 6AMEAT - 6949 ' )

B) Q9 - R/geeR

C) UdQA Q% - QA /AN

D) QAR IR - @eae
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. 96. The national anthem was adopted by the Constituent Assembly on-

A) 24" Jan., 1950 G} 26" Jans; 1952

B) 26" Jan, 1954 D) 15" Aug., 1956
699 CIASIER NAGR FIS1B AETE ARG IR A°2l FIAl qifz@ caMI?
\ A) 24" Jan., 1950 C) 26" Jan., 1952

B) 26" Jan, 1954 D) 15" Aug., 1956

97. Which of the following is not a river of the Southern India?

A) Mahanadi B) Krishna C) Narmada D) Chambal
3¢ A9 6996 QAS AUABA IR A1 G6L ?
A) 21991 B) @11l - C) edal D) Qg

' 98. Fall of sea temperature below normal in the Pacific Ocean which turns heat waves into cald
spells and drought into deluge is called- :

A) Jet stream B) LaNina C) Cold burst D) Cold breeze

20 Ga didg a8l AId N9 AAQRY JaR QRUIeR J0QRe FRAIRIYR! ARIKE
QAAIFOIQ gAIS ALIATAQ ATR SITAIGIQ LA 2LQIF @6l gRIA ?

A) 699 &¢ B) @GR! C) 6aIped D) 69IR5%
99. Biogas contains a mixture of- |

A) : 55% methane & 45% carbon dioxide C) 58% methane & 42% nitrogen

B) 45% methane & 55% carbon dioxide D) None of these

QUEATIAER S FigeIa QQIGIR Jeea AQLE 6R63 ?

A) 55% methane & 45% carbon dioxide C) 58% methane & 42% nitrogen

B) 45% methane & 55% carbon dioxide D) None of these

100. What is the name of the new Department of Odisha Government that has been created with
effect from 1% July, 2015 2

A) Persons with Disability Welfare

B) Minority and Backward Classes Welfare

C) Social Securities & Empowerment of Persons with Disability

D) Micro,Small & Medium Enterprises

3841 AT FIRYS 604 FalT AAT Y8 62192T ?

A) QR e C0) AR FCR B WRYF AT
B) Q6 myl NQ° Ag2 676l @aaa D) 4%, Y9 NQ° ¢liUel Q6%
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